MALAYA JOURNAL OF MATEMATIK

Malaya J. Mat. **10(03)**(2022), 257–266. http://doi.org/10.26637/mjm1003/007

A common fixed point theorem for four weakly compatible self maps of a S-metric space using (CLR) property

A. SRINIVAS¹ AND V. KIRAN²*

1,2 Department of Mathematics, Osmania University, Hyderabad-500007, India.

Received 07 February 2022; Accepted 10 May 2022

Abstract. In this paper, by employing a contractive condition of integral type, we obtain a unique common fixed point for four weakly compatible self maps of a S-metric space which satisfy common limit range property.

AMS Subject Classifications: 54H25, 47H10.

Keywords: S-metric space, Fixed point, Weakly compatibility, Common limit range property.

Contents

1	Introduction	257
2	Preliminaries	258
3	Main Result	259

1. Introduction

Gerald Jungck [7] introduced the concept of compatibility to generalized the notion of commutative property. Further Jungck and Rhoades [8] proposed weakly compatibility of mappings. Also they proved that for a pair of mappings compatibility always implies weakly compatibility but not conversely.

To prove common fixed point theorems, Sintunavarat et al [15] initiated common limit range (CLR) property, which generalized the (E.A) property proposed M. Aamri, D. El Moutawakil [1].

Several authors Dhage, Gahler, Sedghi, Mustafa [3–5, 14, 16] generalized the notion of metric space by introducing 2-metric space, D^* -metric spaces and G-metric spaces.

Shaban Sedghi et al [13] proposed S-metric space as further generalization of metric spaces. This concept of S-metric spaces generated lot of interest among many researches.

In this paper, we prove a common fixed point theorem for four weakly compatible self maps of S-metric space satisfying common limit range property along with an integral type contractive condition [2]. Our result generalizes the results already proved in literature [6]. A suitable example is provided to validate our theorem.

^{*}Corresponding author. Email address: kiranmathou@gmail.com (V. Kiran), srinivas.arugula08@gmail.com (A. Srinivas)

2. Preliminaries

Definition 2.1. [13] Let M be non empty set. A function $S:M^3 \longrightarrow [0,\infty)$ is said to be a S-metric on M, if for each $\nu,\omega,\vartheta,\lambda\in M$

- 1. $S(\nu, \omega, \vartheta) \geq 0$
- 2. $S(\nu, \omega, \vartheta) = 0 \Leftrightarrow \nu = \omega = \vartheta$
- 3. $S(\nu, \omega, \vartheta) \leq S(\nu, \nu, \lambda) + S(\omega, \omega, \lambda) + S(\vartheta, \vartheta, \lambda)$

then (M, S) is called a S-metric space.

Lemma 2.2. [11] In a S-metric space we have $S(\nu, \nu, \omega) = S(\omega, \omega, \nu)$ for all $\nu, \omega \in M$.

Definition 2.3. [12] Let (M, S) be a S-metric space. A sequence (ν_n) in M is said to be convergent if there is a $\nu \in M$ such that $S(\nu_n, \nu_n, \nu) \to 0$ as $n \to \infty$, that is, for each $\epsilon > 0$ there exists an $n_0 \in \mathbb{N}$ such that for all $n \ge n_0$, we have $S(\nu_n, \nu_n, \nu) < \epsilon$ and we denote this by writing $\lim_{n \to \infty} \nu_n = \nu$.

Definition 2.4. [12] Let (M, S) be a S- metric space. A sequence (ν_n) in M is said to be Cauchy sequence if for each $\epsilon > 0$, there exists an $n_0 \in \mathbb{N}$ such that $S(\nu_n, \nu_n, \nu_m) \to 0$ for each $n, m \ge n_0$.

Definition 2.5. [12] A S- metric space (M, S) is said to be complete if for every Cauchy sequence converges to some point in it.

Lemma 2.6. [12] In a S-metric space (M, S), if there exist two sequences (ν_n) and (ω_n) such that $\lim_{n\to\infty} \nu_n = \nu$ and $\lim_{n\to\infty} \omega_n = \omega$, then $\lim_{n\to\infty} S(\nu_n, \nu_n, \omega_n) = S(\nu, \nu, \omega)$.

Definition 2.7. [8] The self mappings H, J of a S-metric space (M, S) are called weakly compatible if $HJ\nu = JH\nu$ whenever $H\nu = J\nu$ for any ν in M.

Definition 2.8. [9] In a S-metric space (M, S), the two pairs of self mappings (H, K) and (J, L) of M are said to satisfy common (E.A) property if there exist two sequences (ν_n) and (ω_n) in M such that

$$\lim_{n\to\infty} H\nu_n = \lim_{n\to\infty} K\nu_n = \lim_{n\to\infty} J\omega_n = \lim_{n\to\infty} L\omega_n = \gamma, \text{where } \gamma \in M.$$

Definition 2.9. [15] In a S-metric space (M, S), the two pairs of self mappings (H, K) and (J, L) on M are said to satisfy common limit range property with respect to K and L, denoted by (CLR_{KL}) if there exists two sequences (ν_n) and (ω_n) in M such that

$$\lim_{n\to\infty} H\nu_n = \lim_{n\to\infty} K\nu_n = \lim_{n\to\infty} J\omega_n = \lim_{n\to\infty} L\omega_n = \gamma, \text{ where } \gamma \in K(M) \cap L(M).$$

Remark 2.10. Throughout this paper $f:[0,\infty) \longrightarrow [0,\infty)$ is a Lebesgue integrable function which is summable on compact subset of $[0,\infty)$ with $\int_0^{\epsilon} f(\gamma) d\gamma > 0$, for any $\epsilon > 0$.

Remark 2.11. Throughout this paper $g:[0,\infty)\longrightarrow [0,\infty)$ is a nondecreasing continuous function on $(0,\infty)$ and $g(\gamma)=0\Leftrightarrow \gamma=0$.

Remark 2.12. Throughout this paper $h:[0,\infty) \longrightarrow [0,\infty)$ is a upper semicontinuous function on $(0,\infty)$ with h(0)=0 and $h(\gamma)<\gamma$, for any $\gamma>0$

Lemma 2.13. [10] Let $f:[0,\infty) \longrightarrow [0,\infty)$ is a Lebesgue integrable function which is summable on compact subset of $[0,\infty)$ with $\int_0^{\epsilon} f(\gamma)d\gamma > 0$, for any $\epsilon > 0$ and $\{\rho_n\}_{n \geq 1}$ be a non negative sequence with $\lim_{n \to \infty} \rho_n = \theta$. Then we have

$$\lim_{n\to\infty} \int_0^{\rho_n} f(\gamma) d\gamma = \int_0^{\theta} f(\gamma) d\gamma.$$



3. Main Result

Now we state our main theorem.

Theorem 3.1. In a S-metric space (M, S), suppose H, J, K and L are self mappings of M satisfying the following conditions

- (i) The pairs (H, K) and (J, L) satisfy (CLR_{KL}) property
- (ii) The pairs (H, K) and (J, L) are weakly compatible

(iii)
$$g(\int_{0}^{S(H\nu,H\nu,J\omega)} f(\gamma)d\gamma) \le g(\int_{0}^{p(\nu,\nu,\omega)} f(\gamma)d\gamma) - \int_{0}^{h(p(\nu,\nu,\omega))} f(\gamma)d\gamma$$

where

$$\begin{split} p(\nu,\nu,\omega) &= max\{S(K\nu,K\nu,L\omega),S(H\nu,H\nu,K\nu),S(J\omega,J\omega,L\omega),\\ &\frac{S(K\nu,K\nu,J\omega) + S(L\omega,L\omega,H\nu)}{2},\frac{S(H\nu,H\nu,K\nu)S(J\omega,J\omega,L\omega)}{1 + S(K\nu,K\nu,L\omega)},\\ &\frac{S(H\nu,H\nu,L\omega)S(J\omega,J\omega,K\nu)}{1 + S(K\nu,K\nu,L\omega)},\\ &\frac{S(H\nu,H\nu,L\omega)S(J\omega,J\omega,K\nu)}{1 + S(K\nu,K\nu,L\omega)}, \end{split}$$

then H, J, K and L have a unique common fixed point in M.

Proof. From the (CLR_{KL}) property of the pairs (H, K) and (J, L), we have two sequences (ν_n) and (ω_n) in M such that

$$\lim_{n \to \infty} H\nu_n = \lim_{n \to \infty} K\nu_n = \lim_{n \to \infty} J\omega_n = \lim_{n \to \infty} L\omega_n = \gamma, \text{ where } \gamma \in K(M) \cap L(M). \tag{3.1}$$

Also there exists a point $\eta \in M$ such that $K\eta = \gamma$, from (3.1), we have

$$\lim_{n \to \infty} H\nu_n = \lim_{n \to \infty} K\nu_n = \lim_{n \to \infty} J\omega_n = \lim_{n \to \infty} L\omega_n = \gamma = K\eta.$$

We now claim that $H\eta=K\eta$, for if $H\eta\neq K\eta$ then $S(H\eta,H\eta,K\eta)>0$. Keeping $\nu=\eta$ and $\omega=\omega_n$ in condition (iii) of Theorem 3.1, we get

$$g(\int_{0}^{S(H\eta, H\eta, J\omega_n)} f(\gamma)d\gamma) \le g(\int_{0}^{p(\eta, \eta, \omega_n)} f(\gamma)d\gamma) - \int_{0}^{h(p(\eta, \eta, \omega_n))} f(\gamma)d\gamma. \tag{3.2}$$

Then

$$\begin{split} p(\eta,\eta,\omega_n) &= \max\{S(K\eta,K\eta,L\omega_n),S(H\eta,H\eta,K\eta),S(J\omega_n,J\omega_n,L\omega_n),\\ &\frac{S(K\eta,K\eta,J\omega_n) + S(L\omega_n,L\omega_n,H\eta)}{2},\frac{S(H\eta,H\eta,K\eta)S(J\omega_n,J\omega_n,L\omega_n)}{1 + S(K\eta,K\eta,L\omega_n)},\\ &\frac{S(H\eta,H\eta,L\omega_n)S(J\omega_n,J\omega_n,K\eta)}{1 + S(K\eta,K\eta,L\omega_n)},\\ &S(H\eta,H\eta,K\eta)(\frac{1 + S(K\eta,K\eta,J\omega_n) + S(L\omega_n,L\omega_n,H\eta)}{1 + S(H\eta,H\eta,K\eta) + S(L\omega_n,L\omega_n,J\omega_n)})\}. \end{split}$$



Now

$$\begin{split} \lim_{n \to \infty} p(\eta, \eta, \omega_n) &= \max\{S(\gamma, \gamma, \gamma), S(H\eta, H\eta, \gamma), S(\gamma, \gamma, \gamma), \\ &\frac{S(\gamma, \gamma, \gamma) + S(\gamma, \gamma, H\eta)}{2}, \frac{S(H\eta, H\eta, \gamma)S(\gamma, \gamma, \gamma)}{1 + S(\gamma, \gamma, \gamma)}, \\ &\frac{S(H\eta, H\eta, \gamma)S(\gamma, \gamma, \gamma)}{1 + S(\gamma, \gamma, \gamma)}, \\ &S(H\eta, H\eta, \gamma)(\frac{1 + S(\gamma, \gamma, \gamma) + S(\gamma, \gamma, H\eta)}{1 + S(H\eta, H\eta, \gamma) + S(\gamma, \gamma, \gamma)})\} \\ &\lim_{n \to \infty} p(\eta, \eta, \omega_n) &= \max\{0, S(H\eta, H\eta, \gamma), 0, \frac{S(\gamma, \gamma, H\eta)}{2}, 0, 0, S(H\eta, H\eta, \gamma)\} \\ &\lim_{n \to \infty} p(\eta, \eta, \omega_n) &= S(H\eta, H\eta, \gamma). \end{split}$$

On taking the limit in (3.2), we get

$$\begin{split} g(\int_0^{S(H\eta,H\eta,\gamma)} f(\gamma)d\gamma) &= \limsup_{n\to\infty} g(\int_0^{S(H\eta,H\eta,J\omega_n)} f(\gamma)d\gamma) \\ &\leq \limsup_{n\to\infty} \{g(\int_0^{p(\eta,\eta,\omega_n)} f(\gamma)d\gamma) - \int_0^{h(p(\eta,\eta,\omega_n))} f(\gamma)d\gamma\} \\ &\leq \limsup_{n\to\infty} (g(\int_0^{p(\eta,\eta,\omega_n)} f(\gamma)d\gamma)) - \liminf_{n\to\infty} \int_0^{h(p(\eta,\eta,\omega_n))} f(\gamma)d\gamma. \end{split}$$

From Lemma 2.13, we get

$$g(\int_0^{S(H\eta, H\eta, \gamma)} f(\gamma) d\gamma) \le g(\int_0^{S(H\eta, H\eta, \gamma)} f(\gamma) d\gamma) - \int_0^{h(S(H\eta, H\eta, \gamma))} f(\gamma) d\gamma$$
$$< g(\int_0^{S(H\eta, H\eta, \gamma)} g(\gamma) d\gamma).$$

Which is a contradiction and hence $H\eta = K\eta$.

Therefore we get

$$H\eta = K\eta = \gamma. \tag{3.3}$$

Similarly there exists a point $\xi \in M$ such that $L\xi = \gamma$, from (3.1), we have

$$\lim_{n \to \infty} H\nu_n = \lim_{n \to \infty} K\nu_n = \lim_{n \to \infty} J\omega_n = \lim_{n \to \infty} L\omega_n = \gamma = L\xi.$$

We now claim that $J\xi = L\xi$, for if $J\xi \neq L\xi$ then $S(J\xi, J\xi, L\xi) > 0$.

Keeping $\nu = \nu_n$ and $\omega = \xi$ in condition (iii) of Theorem 3.1, we get

$$g(\int_0^{S(H\nu_n, H\nu_n, J\xi)} f(\gamma)d\gamma) \le g(\int_0^{p(\nu_n, \nu_n, \xi)} f(\gamma)d\gamma) - \int_0^{h(p(\nu_n, \nu_n, \xi))} f(\gamma)d\gamma. \tag{3.4}$$

Then

$$\begin{split} p(\nu_n,\nu_n,\xi) &= \max\{S(K\nu_n,K\nu_n,L\xi),S(H\nu_n,H\nu_n,K\nu_n),S(J\xi,J\xi,L\xi),\\ &\frac{S(K\nu_n,K\nu_n,J\xi) + S(L\xi,L\xi,H\nu_n)}{2},\frac{S(H\nu_n,H\nu_n,K\nu_n)S(J\xi,J\xi,L\xi)}{1 + S(K\nu_n,K\nu_n,L\xi)},\\ &\frac{S(H\nu_n,H\nu_n,L\xi)S(J\xi,J\xi,K\nu_n)}{1 + S(K\nu_n,K\nu_n,L\xi)},\\ &\frac{S(H\nu_n,H\nu_n,L\xi)S(J\xi,J\xi,K\nu_n)}{1 + S(K\nu_n,K\nu_n,J\xi)},\\ &S(H\nu_n,H\nu_n,K\nu_n)(\frac{1 + S(K\nu_n,K\nu_n,J\xi) + S(L\xi,L\xi,H\nu_n)}{1 + S(H\nu_n,H\nu_n,K\nu_n) + S(L\xi,L\xi,J\xi)})\}. \end{split}$$



Now

$$\begin{split} \lim_{n \to \infty} p(\nu_n, \nu_n, \xi) &= \max\{S(\gamma, \gamma, \gamma), S(\gamma, \gamma, \gamma), S(J\xi, J\xi, \gamma), \\ &\frac{S(\gamma, \gamma, J\xi) + S(\gamma, \gamma, \gamma)}{2}, \frac{S(\gamma, \gamma, \gamma)S(J\xi, J\xi, \gamma)}{1 + S(\gamma, \gamma, \gamma)}, \\ &\frac{S(\gamma, \gamma, \gamma)S(J\xi, J\xi, \gamma)}{1 + S(\gamma, \gamma, \gamma)}, \\ &S(\gamma, \gamma, \gamma)(\frac{1 + S(\gamma, \gamma, J\xi) + S(\gamma, \gamma, \gamma)}{1 + S(\gamma, \gamma, \gamma) + S(\gamma, \gamma, J\xi)})\} \\ &\lim_{n \to \infty} p(\nu_n, \nu_n, \xi) &= \max\{0, 0, S(J\xi, J\xi, \gamma), \frac{S(\gamma, \gamma, J\xi)}{2}, 0, 0, 0\} \\ &\lim_{n \to \infty} p(\nu_n, \nu_n, \xi) &= S(J\xi, J\xi, \gamma). \end{split}$$

On taking the limit in (3.4), we get

$$\begin{split} g(\int_0^{S(\gamma,\gamma,J\xi)} f(\gamma)d\gamma) &= \limsup_{n \to \infty} g(\int_0^{S(H\nu_n,H\nu_n,J\xi)} f(\gamma)d\gamma) \\ &\leq \limsup_{n \to \infty} \{g(\int_0^{p(\nu_n,\nu_n,\xi)} f(\gamma)d\gamma) - \int_0^{h(p(\nu_n,\nu_n,\xi))} f(\gamma)d\gamma\} \\ &\leq \limsup_{n \to \infty} (g(\int_0^{p(\nu_n,\nu_n,\xi)} f(\gamma)d\gamma)) - \liminf_{n \to \infty} \int_0^{h(p(\nu_n,\nu_n,\xi))} f(\gamma)d\gamma. \end{split}$$

From Lemma 2.13, we get

$$g(\int_{0}^{S(\gamma,\gamma,J\xi)} f(\gamma)d\gamma) \le g(\int_{0}^{S(\gamma,\gamma,J\xi)} f(\gamma)d\gamma) - \int_{0}^{h(S(\gamma,\gamma,J\xi))} f(\gamma)d\gamma$$
$$< g(\int_{0}^{S(\gamma,\gamma,J\xi)} f(\gamma)d\gamma).$$

Which is a contradiction and hence $J\xi = L\xi$.

Therefore we get

$$J\xi = L\xi = \gamma. \tag{3.5}$$

From (3.3) and (3.5), we get

$$H\eta = K\eta = J\xi = L\xi = \gamma.$$

Now we establish γ is a common fixed point of H, J, L and K.

Clearly $HK\eta = KH\eta$

from which we get

$$H\gamma = K\gamma$$

and

 $JL\xi = LJ\xi$ which implies

$$J\gamma = L\gamma$$
.

Now we prove that $H\gamma=\gamma$, for if $H\gamma\neq\gamma$ then $S(H\gamma,H\gamma,\gamma)>0$. Substituting $\nu=\gamma$ and $\omega=\xi$ in condition (iii) of Theorem 3.1, we get

$$g(\int_0^{S(H\gamma, H\gamma, J\xi)} f(\gamma)d\gamma) \le g(\int_0^{p(\gamma, \gamma, \xi)} f(\gamma)d\gamma) - \int_0^{h(p(\gamma, \gamma, \xi))} f(\gamma)d\gamma. \tag{3.6}$$



Then

$$\begin{split} p(\gamma,\gamma,\xi) &= \max\{S(K\gamma,K\gamma,L\xi),S(H\gamma,H\gamma,K\gamma),S(J\xi,J\xi,L\xi),\\ \frac{S(K\gamma,K\gamma,J\xi) + S(L\xi,L\xi,H\gamma)}{2}, \frac{S(H\gamma,H\gamma,K\gamma)S(J\xi,J\xi,L\xi)}{1 + S(K\gamma,K\gamma,L\xi)},\\ \frac{S(H\gamma,H\gamma,L\xi)S(J\xi,J\xi,K\gamma)}{1 + S(K\gamma,K\gamma,L\xi)},\\ \frac{S(H\gamma,H\gamma,L\xi)S(J\xi,J\xi,K\gamma)}{1 + S(K\gamma,K\gamma,L\xi)},\\ S(H\gamma,H\gamma,K\gamma)(\frac{1 + S(K\gamma,K\gamma,J\xi) + S(L\xi,L\xi,H\gamma)}{1 + S(H\gamma,H\gamma,K\gamma) + S(L\xi,L\xi,J\xi)})\} \end{split}$$

$$p(\gamma,\gamma,\xi) &= \max\{S(H\gamma,H\gamma,\gamma),S(H\gamma,H\gamma,H\gamma),S(\gamma,\gamma,\gamma),\\ \frac{S(H\gamma,H\gamma,\gamma) + S(\gamma,\gamma,H\gamma)}{2}, \frac{S(H\gamma,H\gamma,H\gamma)S(\gamma,\gamma,\gamma)}{1 + S(H\gamma,H\gamma,\gamma)},\\ \frac{S(H\gamma,H\gamma,\gamma)S(\gamma,\gamma,H\gamma)}{1 + S(H\gamma,H\gamma,\gamma)},\\ S(H\gamma,H\gamma,H\gamma,\gamma),\frac{1 + S(H\gamma,H\gamma,\gamma) + S(\gamma,\gamma,H\gamma)}{1 + S(H\gamma,H\gamma,H\gamma) + S(\gamma,\gamma,\gamma)})\} \end{split}$$

$$p(\gamma,\gamma,\xi) &= \max\{S(H\gamma,H\gamma,\gamma),0,S(H\gamma,H\gamma,\gamma),0,\frac{S(H\gamma,H\gamma,\gamma)S(H\gamma,H\gamma,\gamma)}{1 + S(H\gamma,H\gamma,\gamma)},0\}$$

From (3.6), we get

$$\begin{split} g(\int_0^{S(H\gamma,H\gamma,\gamma)} f(\gamma)d\gamma) &\leq g(\int_0^{S(H\gamma,H\gamma,\gamma)} f(\gamma)d\gamma) - \int_0^{h(S(H\gamma,H\gamma,\gamma))} f(\gamma)d\gamma \\ &< g(\int_0^{S(H\gamma,H\gamma,\gamma)} f(\gamma)d\gamma). \end{split}$$

Which is a contradiction and hence $H\gamma = \gamma$.

Therefore we get

$$H\gamma = K\gamma = \gamma. \tag{3.7}$$

Similarly we can prove that

$$J\gamma = L\gamma = \gamma. (3.8)$$

From (3.7) and (3.8), we get

$$H\gamma = K\gamma = J\gamma = L\gamma = \gamma.$$

Proving γ is a fixed point of H, J, K and L.

For if $\zeta(\zeta \neq \gamma)$ is in M such that

$$H\zeta = K\zeta = J\zeta = L\zeta = \zeta.$$

On taking $\nu = \gamma$ and $\omega = \zeta$ in condition (iii) of Theorem 3.1, we get

$$g(\int_{0}^{S(H\gamma,H\gamma,J\zeta)} f(\gamma)d\gamma) \le g(\int_{0}^{p(\gamma,\gamma,\zeta)} f(\gamma)d\gamma) - \int_{0}^{h(p(\gamma,\gamma,\zeta))} f(\gamma)d\gamma. \tag{3.9}$$



Then

$$\begin{split} p(\gamma,\gamma,\zeta) &= \max\{S(K\gamma,K\gamma,L\zeta),S(H\gamma,H\gamma,K\gamma),S(J\zeta,J\zeta,L\zeta),\\ \frac{S(K\gamma,K\gamma,J\zeta) + S(L\zeta,L\zeta,H\gamma)}{2}, \frac{S(H\gamma,H\gamma,K\gamma)S(J\zeta,J\zeta,L\zeta)}{1 + S(K\gamma,K\gamma,L\zeta)},\\ \frac{S(H\gamma,H\gamma,L\zeta)S(J\zeta,J\zeta,K\gamma)}{1 + S(K\gamma,K\gamma,L\zeta)},\\ S(H\gamma,H\gamma,K\gamma,L\zeta) \\ S(H\gamma,H\gamma,K\gamma)(\frac{1 + S(K\gamma,K\gamma,J\zeta) + S(L\zeta,L\zeta,H\gamma)}{1 + S(H\gamma,H\gamma,K\gamma) + S(L\zeta,L\zeta,J\zeta)})\} \\ p(\gamma,\gamma,\zeta) &= \max\{S(\gamma,\gamma,\zeta),S(\gamma,\gamma,\gamma),S(\zeta,\zeta,\zeta),\\ \frac{S(\gamma,\gamma,\zeta) + S(\zeta,\zeta,\gamma)}{2}, \frac{S(\gamma,\gamma,\gamma)S(\zeta,\zeta,\zeta)}{1 + S(\gamma,\gamma,\zeta)},\\ \frac{S(\gamma,\gamma,\zeta)S(\zeta,\zeta,\gamma)}{1 + S(\gamma,\gamma,\zeta)},\\ S(\gamma,\gamma,\gamma)(\frac{1 + S(\gamma,\gamma,\zeta) + S(\zeta,\zeta,\gamma)}{1 + S(\gamma,\gamma,\gamma) + S(\zeta,\zeta,\zeta)})\} \\ p(\gamma,\gamma,\zeta) &= \max\{S(\gamma,\gamma,\zeta),0,S(\gamma,\gamma,\zeta),0,\frac{S(\gamma,\gamma,\zeta)S(\gamma,\gamma,\zeta)}{1 + S(\gamma,\gamma,\zeta)},0\} \\ p(\gamma,\gamma,\zeta) &= S(\gamma,\gamma,\zeta). \end{split}$$

From (3.9), we get

$$g(\int_0^{S(\gamma,\gamma,\zeta)} f(\gamma)d\gamma) \le g(\int_0^{S(\gamma,\gamma,\zeta)} f(\gamma)d\gamma) - \int_0^{h(S(\gamma,\gamma,\zeta))} f(\gamma)d\gamma$$
$$< g(\int_0^{S(\gamma,\gamma,\zeta)} f(\gamma)d\gamma).$$

Which is a contradiction and hence $\gamma = \zeta$.

Proving that H, J, K and L have a unique common fixed point in M.

As an illustration we have the following example.

Example 3.2. Let M=(0,1]. Define $S(\nu,\omega,\vartheta)=|\nu-\vartheta|+|\omega-\vartheta|$, where $\nu,\omega,\vartheta\in M$, then S is a S-metric on M. Now let H, J, K and L be self maps on M, defined by

$$H(\nu) = \begin{cases} \frac{1}{2}, & \text{if } \nu \in (0, \frac{1}{2}], \\ \\ \frac{1}{5}, & \text{if } \nu \in (\frac{1}{2}, 1]. \end{cases} J(\nu) = \begin{cases} \frac{1}{2}, & \text{if } \nu \in (0, \frac{1}{2}], \\ \\ \frac{1}{3}, & \text{if } \nu \in (\frac{1}{2}, 1]. \end{cases}$$

$$K(\nu) = \begin{cases} \frac{1}{2}, & \text{if } \nu \in (0, \frac{1}{2}], \\ \\ \frac{1}{7}, & \text{if } \nu \in (\frac{1}{2}, 1]. \end{cases} L(\nu) = \begin{cases} \frac{1}{2}, & \text{if } \nu \in (0, \frac{1}{2}], \\ \\ \frac{1}{9}, & \text{if } \nu \in (\frac{1}{2}, 1]. \end{cases}$$



Also take $f(\gamma)=3\gamma,$ $g(\gamma)=\frac{\gamma}{3}$ and $h(\gamma)$ as floor function.

Let (ν_n) and (ω_n) be sequences in M with $\nu_n = \frac{1}{n+1}$ and $\omega_n = \frac{1}{n+3}$, where $n \ge 1$, then

$$\lim_{n \to \infty} H\nu_n = \lim_{n \to \infty} H(\frac{1}{n+1}) = \frac{1}{2},$$

$$\lim_{n \to \infty} K \nu_n = \lim_{n \to \infty} K(\frac{1}{n+1}) = \frac{1}{2},$$

$$\lim_{n \to \infty} J\omega_n = \lim_{n \to \infty} J(\frac{1}{n+3}) = \frac{1}{2},$$

$$\lim_{n \to \infty} L\omega_n = \lim_{n \to \infty} L(\frac{1}{n+3}) = \frac{1}{2}.$$

Thus
$$\lim_{n\to\infty} H\nu_n = \lim_{n\to\infty} K\nu_n = \lim_{n\to\infty} J\omega_n = \lim_{n\to\infty} L\omega_n = \frac{1}{2}$$
 and $\frac{1}{2} \in K(M) \cap L(M)$.

Proving (H, K) and (J, L) satisfy (CLR_{KL}) property.

Also
$$H\nu = K\nu$$
, for all $\nu \in (0, \frac{1}{2}]$

$$\mathrm{H}(\mathrm{K}(\nu)) = \frac{1}{2} = K(H(\nu))$$

therefore (H, K) is weakly compatible.

Similarlry (J, L) is also weakly compatible.

Now we verify the condition (iii) of Theorem 3.1 in different cases.

Case(i): Let
$$\nu, \omega \in (0, \frac{1}{2}]$$

then $H\nu=K\nu=J\omega=L\omega=\frac{1}{2}$ and $p(\nu,\nu,\omega)=0,$ $S(H\nu,H\nu,J\omega)=0$ from condition (iii) of Theorem 3.1, we get

we get
$$g(\int_0^{S(H\nu,H\nu,J\omega)} f(\gamma)d\gamma) = 0 \text{ also } g(\int_0^{p(\nu,\nu,\omega)} f(\gamma)d\gamma) - \int_0^{h(p(\nu,\nu,\omega))} f(\gamma)d\gamma = 0.$$

Case(ii): Let $\nu, \omega \in (\frac{1}{2}, 1]$

$$H\nu = \frac{1}{5}, K\nu = \frac{1}{7}, J\omega = \frac{1}{3}, L\omega = \frac{1}{9}$$
 and

$$p(\nu,\nu,\omega) = max\{\frac{4}{63}, \frac{4}{35}, \frac{4}{9}, \frac{88}{315}, \frac{16}{335}, \frac{64}{1005}, \frac{4}{35}\} = \frac{4}{9}$$

 $S(H\nu, H\nu, J\omega) = \frac{4}{15}$, then condition (iii) of Theorem 3.1, we get

$$g(\int_0^{S(H\nu,H\nu,J\omega)}f(\gamma)d\gamma)=g(\int_0^{\dfrac{4}{15}}3\gamma d\gamma)=\dfrac{8}{225} \text{ and }$$

$$g(\int_0^{p(\nu,\nu,\omega)} f(\gamma)d\gamma) - \int_0^{h(p(\nu,\nu,\omega))} f(\gamma)d\gamma = g(\int_0^{\frac{4}{9}} 3\gamma d\gamma) - \int_0^{h(\frac{4}{9})} 3\gamma d\gamma$$
$$= \frac{8}{81}.$$

Thus
$$\frac{8}{225} < \frac{8}{81}$$
.

Case(iii): Let
$$\nu \in (0, \frac{1}{2}], \omega \in (\frac{1}{2}, 1]$$



$$H\nu=K\nu=rac{1}{2}, J\omega=rac{1}{3}, L\omega=rac{1}{9} ext{ and }$$

$$p(\nu,\nu,\omega)=max\{rac{7}{9},0,rac{4}{9},rac{5}{9},0,rac{7}{48},0\}=rac{7}{9}$$

 $S(H\nu, H\nu, J\omega) = \frac{1}{3}$, then condition (iii) of Theorem 3.1, we get

$$g(\int_0^{S(H\nu,H\nu,J\omega)}f(\gamma)d\gamma)=g(\int_0^{\frac{1}{3}}3\gamma d\gamma)=\frac{1}{18} \text{ and }$$

$$g(\int_0^{p(\nu,\nu,\omega)} f(\gamma)d\gamma) - \int_0^{h(p(\nu,\nu,\omega))} f(\gamma)d\gamma = g(\int_0^{\frac{\gamma}{9}} 3\gamma d\gamma) - \int_0^{h(\frac{\gamma}{9})} 3\gamma d\gamma$$
$$= \frac{49}{162}.$$

Thus
$$\frac{1}{18} < \frac{49}{162}$$
.

Thus
$$\frac{1}{18} < \frac{49}{162}$$
. From above cases
$$g \int_0^{S(H\nu,H\nu,J\omega)} f(\gamma) d\gamma) \leq g(\int_0^{p(\nu,\nu,\omega)} f(\gamma) d\gamma) - \int_0^{h(p(\nu,\nu,\omega))} f(\gamma) d\gamma.$$

Similarly we can check condition (iii) of Theorem 3.1 in case if $\nu \in (\frac{1}{2}, 1]$, $\omega \in (0, \frac{1}{2}]$.

Hence condition (iii) of Theorem 3.1 is satisfied in different cases.

Thus all conditions of Theorem 3.1 are satisfied and clearly $\frac{1}{2}$ is the unique common fixed point of H, J, K and L.

References

- [1] M. AAMRI AND D. EL MOUTAWAKIL, Some new common fixed point theorems under strict contractive conditions, J. Math. Anal. Appl., 270(1)(2002), 181-188.
- [2] A. Branciari, A fixed point theorem for mappings satisfying a general contractive condition of integral type, Int. J. Math. Math. Sci., 29(9)(2002), 531-536.
- [3] B.C. DHAGE, Generalized metric space and mapping with fixed point, Bull. Calcutta. Math. Soc., 84(1992), 329 - 336.
- [4] S. GAHLER, 2-metrische Raume and ihre topologische struktur, Math. Nachr., 26(1963), 115-148.
- [5] S. GAHLER, Zur geometric 2-metriche raume, Rev. Roum. Math. Pures Appl., 11(1966), 665-667.
- [6] D.B. JIGMI AND T. KALISHANKAR, Common fixed points theorem for four mappings on metric space satisfying contractive conditions of integral type, Elect. J. Math. Anal. Appl., 8(2)(2020), 326-345.
- [7] G. JUNGCK, Compatible mappings and fixed points, Int. J. Math. Sci., 9(4)(1986), 771-779.
- [8] G. JUNGCK AND B.E. RHOADES, Fixed point for set valued Functions without continuity, *Indian J. Pure Appl.* Math., 29(3)(1998), 227-238.
- [9] Y. LIU, J. WU AND Z. LI, Common fixed points of single-valued and multi-valued maps, Int. J. Math. Math Sci., 19(2005), 3045-3055.
- [10] Z. LIU, J. LI AND S.M. KANG, Fixed point theorems of contractive mappings of integral type, Fixed Point Theory and Applications, 2013, Article ID 300 (2013).



- [11] S. SEDGHI, I. ALTUN, N. SHOBE AND M.A. SALAHSHOUR, Some properties of S-metric spaces and fixed point results, *Kyungpook Math. J.*, **54(1)**(2014), 113-122.
- [12] S. SEDGHI AND N.V. DUNG, Fixed point theorems on S-metric spaces, Mat. Vesn., 66(2014), 113-124.
- [13] S. SEDGHI, N. SHOBE AND A. ALIOUCHE, A generalization of fixed point theorems in S-metric spaces, *Mat. Vesn.*, **64(3)**(2012), 258-266.
- [14] S. Sedghi, N. Shobe and H. Zhou, A common fixed point theorem in D^* -metric spaces, *Fixed point Theory Appl.*, 2007(2007), 027906.
- [15] W. SINTUNAVARAT AND P. KUMAM, Common fixed point theorem for a pair of weakly compatible mappings in fuzzy metric space, *J. Appl. Math.*, 2011(2011), Article ID 637958.
- [16] ZEAD MUSTAFA AND BRAILEY SIMS, A new approach to generalized metric spaces, *Journal of Non linear and Convex Analysis*, **7(2)**(2006), 289-297.



This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

